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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 100,000
s 100,000
01 A& HI 200,000 1,494,600 A 1,294,600
Ostet RNATHHA— ML X7 HH A 200,000
= 100,000
[ia 100,000
ANATHMHAE NS X2 FE(LSKF) 1,000,000 1,000,000 0
= 500,000
s 500,000
401 A& BIZ 201 8I 1,000,000 1,000,000 0
= 500,000
= 500,000
01 A& HI 993,700 993,700 0
O4Ys NHMHAEME X FHIALY 993,700
= 500,000
s 493,700
03 AIE 2 0HHI 6,300 6,300 0
O83 NATHMHA—IMNL X7 HH AL
1,000,000,000& *0.63% 6,300
TATHHAEE M S X2 (=X F) 200,000 1,000,000 A800,000
= 200,000
401 Al HI & 28I 200,000 1,000,000 A.800,000
= 200,000
01 A& HI 198,560 993,700 AT795,140
Oda NATHHAZ ML X7 HHIAL 198,560
= 198,560
03 A& =2 THHI 1,440 6,300 24,860
OE& NHMHAEME X EHIAL
200,000,000& *0.72% 1,440
= 1,440
THOUTHAN IO & X2 F I (0 &K 7) 200,000 580,000 A380,000
= 200,000
401 Al Bl 28I 200,000 580,000 A 380,000
= 200,000
01 A& HI 198,560 576,346 AN377,786
OOH&H Xt THoH A &0 & X = EHIAY 198,560
= 198,560
03 Al =2 0HHI 1,440 3,654 A2,214
ODH& RATHOH AR ML X7 HHIAY
200,000,000& *0.72% 1,440
= 1,440
HEXT ExsMegd SSEUMG 2,000,000 1,000,000 1,000,000
= 2,000,000
401 AIEBIZ 28I 2,000,000 1,000,000 1,000,000
= 2,000,000
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2 HEMoHoE 2 SRs82e
Sl ol X7 FHAY (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 A& HI 1,992,800 993,700 999, 100
OgdX= S=oll &2 SEFHAY 1,992,800
= 1,992,800
03 Al S HHI 7,200 6,300 900
OgdX7 S+ 4z SEEHAY
2,000, 000,000& *0.36% 7,200
= 7,200
ot& & ol 8,427,550 7,659,100 768,450
£ 800,000
S 50,000
[ia 7,577,550
ot& FHIALS 8,427,550 7,659,100 768,450
£ 800,000
= 50,000
[ 7,577,550
SHE AlE ALY 2,358,460 1,605,760 752,700
401 Al HIZ 201 8] 2,358,460 1,605,760 752,700
01 A& HI 2,350,000 1,600,000 750,000
Ob0l2EX 24l 1,000,000& 1502 X| 150,000
OstaEAlY 22l 10,000,000 «5J4 A 50,000
OMHLASE AL L JIEAE HES
10,000,000 «5J4 2 50,000
OMMol?IE AdtE A& A
10,000,000 «8IH 2 80,000
Odtd Mgz & F§s5&2 ZF
5,000,000 * 104 & 50,000
Og& HMad HHl 30,000
oZg& Nsd &l 85,000
oY FNsA I 40,000
O A=A Hl 220,000
Ol =5F& FHl 90,000
O+ 238 FHl 50,000
Oss Jtetd &l 70,000
Oss d4Ed Fol 70,000
O== EI0tE &bl 40,000
Oss &€& ug =& 30,000
oot s¢d FHx=2 £X 60,000
Otior s"d Fdl 100,000
Ot 2&d =2 &1 40,000
ORE &std Hyl 40,000
OFg 4&=& Hl 100,000
O=sd sdd Fl 20,000
O B&EH &l 80,000
OzZAM &8ss FHl 30,000
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& SHEEHIALE (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Oz=dg =Ed &% FHl 40,000
O=d &8 E= 30,000
Oz=dg =&d Fl 60,000
OZA & Fl 100,000
OZ4h AAHA H] 100,000
Ogd a=d Mg 2F 40,000
OZ4h LA H| 80,000
Oy E8d g &% 30,000
Oogd 2s8d Fl 95,000
OfKRE XHEX &X 200,000
03 Al =2 THHI 8,460 5,760 2,700
OGtE Al A 2,350,000,000& *0.36% 8,460
ot& =Xl 22l 899,090 734,340 164,750
201 £B-2dH| 79,090 88,340 29,250
01 At 22/l 69,200 74,450 25,250
OsJIEExE 15,000& »400E X 6,000
Ootd =S HH FHLXNS(HM=EINIELE)
550,000& »30CH 16,500
OMANS2=D U ANFEX HULNS(HED
gx) 550,000& »60CH 33,000
O%Ed FERMAYI M & A2EHH LU=
550,000& = 10CH 5,500
Ootd 28R N, @ =4l
8,000& x5 x80 3,200
OotEAIEE ¥ THl SXN2el =3 2,000
Octdsgde N2 HXE
500,000& *6H 2~ 3,000
02 8323l 9,890 13,890 A 4,000
OdJl, SHe3 3,000
OStERXE Zelxed A=l 3,000
Oota el &Hl HdzHl (¥, JAHE)
(1,350& %1004 *108] )+(1,540& *1004 *103]) 2,890
Osdta&el &l X228 (Z=22], JIAHS) 1,000
401 Al HI L 2 THHI 820,000 620,000 200,000
01 A& HI 820,000 620,000 200,000
OXNYBHAE, 4518 F& L 22
20,000,000& * 1500 £ 300,000
OXgotd, Actd ANES RA2a
10,000,000 * 1094 £ 100,000
OXgotd, Aotd MEEZ ]
10,000,000 & *20H £ 200,000
O&UXI= HEX =22 X2l 20,000
OAEA D 22X HLHE =8 8249 200,000
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

SIEAAAIE (EX) 50,000 250,000 A 200,000
< 50,000

401 Al B 2 0HHI 50,000 250,000 A 200,000
T 50,000

01 A& HI 50,000 250,000 A 200,000
Qg A2H GIAEEH 50,000
& 50,000

MEHSIE S X2l 120,000 260,000 A 140,000

201 et A | 40,000 60,000 A 20,000

02 3524t 40,000 60,000 A 20,000
O&Jleaz, dIIHNM+22 S 40,000

401 AIEHIL 201 80,000 200,000 A 120,000

01 Al& bl 80,000 200,000 A 120,000
OMEHESX SN2 (ZHI, st=Edl) 30,000
OMEIEX E(0FNE, O3 S) 50,000

AolE HH(S2H) (2 HEAIY) 1,700,000 800,000 900,000

401 Al HI L £ 0HHI 1,700,000 800,000 900,000

01 A& HI 1,693,880 794,960 898,920
OF5205t& | 1,693,880

03 A& 20 b 6,120 5,040 1,080
OF=40td & 1,700,000, 000& *0.36% 6,120

AGHE HH|(MBHXIA) (2 HEAY) 2,300,000 1,000,000 1,300,000

401 Al HI YL 2 0HHI 2,300,000 1,000,000 1,300,000

01 A& HI 2,291,720 993,700 1,298,020
OAteXIAGHA A 2,291,720

03 Al& 201 Y] 8,280 6,300 1,980
OQtGEX AoHtA A H| 2,300,000,000& *0.36% 8,280

A0 HUI(UHaHA)(2 HSAFY) 200,000 200,000 0

401 Al B 20 HI 200,000 200,000 0

01 A& HI 198,560 198, 560 0
OtistAdld Al 198,560

03 Al& 201l 1,440 1,440 0
OtistAdtE & 200,000,000& +0.72% 1,440

Aot HUI(KAEHA) 800,000 0 800,000
S 800,000

401 Al HIL 201 800,000 0 800,000
S 800,000

01 A& bl 794,960 0 794,960
OX&EASE HH| 794,960




SN oD
N GIAEAH|
& SHEEHIALE (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 794,960
03 AlE 201 | 5,040 0 5,040
OXZ&EAdtE & 800,000,000 *0.63% 5,040
S 5,040
HEMSHAY| (otE 22| ) 348,609 348,507 102
ol 2AY| 236,930 235,706 1,224
oI d| 236,930 235,706 1,224
101 2124 H] 236,930 235,706 1,224
01 2= 146,976 145,860 1,116
OANZ2II22 LS HHUHZ(26H) 32,632
— 6= 12,1243 x6H *10A| 2t x 122 8,730
—dEFH2A(LIZ)
11,4773 *1H *10A| 2tx 122 1,378
-7 10,952% x5 «10A| 2tx 12 6,572
— 8= 09,8323 x9H x10A| 2tx 12 10,619
- 92 8,887& x5H x10A| 2tx 128 5,333
OxUI2PE 10,4483 *26H x32A| 2Hx12& 104,313
OZZLH9 Hla2244
10,4482 » 10 *8A| 2+ %122 10,031
02 JIEtR B4 10,674 10,566 108
OF 2 B2 (15501 4~234 0| 0) 5,082
— Ao 2Rsg(FuE)
10,083& *1H x10Al 2t 128 1,210
—ZB224Y 10,083+ 19 +32A1 24128 3,872
OB & 22 (2313 0] 4-~301 0/ 0) 5,502
S ELEETE T
11,0023 *1H *10A 2t <128 1,332
— X224 11,092& x1H #32A| 2+ x12& 4,260
03 222 (RIHY) 22X E 2 79,280 79,280 0
OCCTVE St 2 MAEH 22Xt 79,280
—594224c 110,000& 122 x18L 23,760
— 022244 40,0003 x4H «347 55,520
PIEE-T 111,679 112,801 A1,122
Jl2 &4l 111,679 112,801 NT,122
201 et d| 57,135 56,361 774
01 AP 22| H| 52,635 51,861 774
Oget4==2H| =M H A 24,745
OSEH A A 27,890
02 E32%H| 4,500 4,500 0
Ost=eMHaEa 3l 1,000
OX&S XY (1) 3,500




orM 2l ot
dYy2IZH (M 2el)
Jl=23tl

= - — SHE|
SN HH-S(BN) - MBAY - B e 2
202 Od4dl 44,484 50,500 26,016
01 = LHA YI 42,684 48,700 AN6,016
O=WHBI (L) 29,160
O=Uoitg(22l) 13,524
02 M0 1,800 1,800 0
OZAHNBI(REXE &)
150,000& 1H 128 1,800
203 R =&l 6,060 5,940 120
04 EANSIHRF=EHI 6,060 5,940 120
OFRN2IYSF=AHI
(400,000 « 122 )+(5,000& 218 *12& ) 6,060
405 THebH S| 4,000 0 4,000
01 XAt 2 S FH S| 4,000 0 4,000
OMEH 29 235 ¢ 4,000
—YHED(1N) 1,000
— &A1) 500
—2Ad BEII(1H) 1,500
H3I1 (1) 1,000
s (ordael ) 844,429 851,375 A 6,946
SHANK= 844,429 840,272 4,157
za dE3 700,000 700,000 0
702 JISHES 700,000 700,000 0
(RPIE=RSE—= 700,000 700,000 0
OM:t2eldIg d&E= 700,000
etz s &= 144,429 140,272 4,157
701 JIEtel HSHES 144,429 140,272 4,157
01 JIEtSI HEES 144,429 140,272 4,157
OLEAFTHINARNINY SEIH =3
NIIR 24 223) 144,429




